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t=15cmLLF 2.19+0. 1+42. 5+1. 1+1. 1+5. 28=66. 5 66. 67[ m
avy)— gk a9 ) — FERERR 3.8
t=15cmLl £ 30cmEL T 3. 4 m
SHEERRIERE UDRIB) | TR T 7L MEERR 1.3+0. 5+28. 5+2. 9+1. 7+1. 7+1. 2+2. 6=40. 4
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avsy—rEEYREL |EBFEEY. AHET (6. 7+0. 4) *0. 05+1. 1+0. 002+0. 06=1. 5
1. 2l m3
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1. 2l m3
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2. 2l m3
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2. 2l m3
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Bt E0s mEL 9. 6+24. 7+1. 7+1. 1+1. 1+0. 9=39. 1
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12.2 10/ m3
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0.9 0.9/ m3
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4.3 4] m3
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0+ 00 0.02 0.20
0+ 38 3.8 0.02 0.02 0.08 0.00 0.10 0.4
0+ 6.0 2.2 0.03 0.03 0.07
0+ 1.7 1.7 0.03 0.03 0.05
0+ 80 0.3 0.03 0.03 0.01
0+ 83 0.3 0.03 0.03 0.01 0.24 0.10
0+ 9.2 0.9 0.24 0.24 0.2 0.10 0.10 0.1
0+ 103 1.1 0.23 0.24 0.3 0.10 0.10 0.1
0+ 194 9.1 0.21 0.22 2.0 0.10 0.10 0.9
0+ 245 5.1 0.20 0.21 1.1 0.10 0.10 0.5
N E 0.2 3.6 1.6 0.4
& i 0.2 3.6 1.6 0.4
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0+ 00 0.30 0.04
0+ 38 3.8 0.30 0.30 1.1 0.04 0.04 0.15
0+ 17 0.30 0.04
0+ 80 0.3 0.30 0.30 0.1 0.04 0.04 0.01
0+ 83 0.3 0.30 0.30 0.1 0.04 0.04 0.01
0+ 83 0.0 0.55 0.50
0+ 92 0.9 0.55 0.55 0.5 0.50 0.50 0.5
0+ 103 1.1 0.60 0.55 0.6
0+ 194 9.1 0.60 0.60 55
0+ 245 5.1 0.50 0.55 238
0+ 83 0.20
0+ 92 0.9 0.20 0.20 0.2
0+ 92 0.0 0.30
0+ 103 1.1 0.30 0.30 0.3
0+ 194 9.1 0.40 0.35 3.2
0+ 245 5.1 0.30 0.35 1.8
A 1.3 0.5 9.6 55
& i 1.3 0.5 9.6 5.5
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0+ 9.2 0.05

0+ 103 1.1 0.05 0.05 0.1

0+ 194 9.1 0.06 0.06 0.5

0+ 245 5.1 0.05 0.06 0.3

I E 0.9

5 i 0.9




% = E = No.4
_ _ HEEARALSESR
- S5 Rl A R[E- FEEREE- TR EIEY HRELGERAL)
B o= X il BE A B F 8| ¥ BB E|T B & m| Ty i m| Ty A -
g & g & Br @ Br @

0+ 03 1.12 0.60 0.70 0.20

0+ 26 2.3 1.12 1.12 26 0.60 0.60 1.4 0.60 0.65 1.5 0.20 0.20 0.5
0+ 26 0.56 0.30 0.60 0.10

0+ 40 1.4 0.56 0.56 0.8 0.30 0.30 0.4 0.60 0.60 0.8 0.10 0.10 0.1
0+ 16.0 12.0 0.56 0.56 6.7 0.30 0.30 3.6 0.60 0.60 7.2 0.10 0.10 1.2
0+ 180 2.0 0.56 0.56 1.1 0.30 0.30 0.6 0.60 0.60 1.2 0.10 0.10 0.2
0+ 200 2.0 0.56 0.56 1.1 0.30 0.30 0.6 0.60 0.60 1.2 0.10 0.10 0.2
0+ 217 1.7 0.59 0.58 1.0 0.30 0.30 0.5 0.60 0.60 1.0 0.10 0.10 0.2
0+ 228 0.61 0.30 0.60 0.10

0+ 385 15.7 0.87 0.74 11.6 0.30 0.30 4.7 0.60 0.60 9.4 0.10 0.10 1.6
0+ 400 1.5 0.90 0.89 1.3 0.30 0.30 0.5 0.60 0.60 0.9 0.10 0.10 0.2
0+ 425 25 0.90 0.90 2.3 0.30 0.30 0.8 0.60 0.60 1.5 0.10 0.10 0.3
N 28.5 13.1 24.7 45
= 28.5 13.1 24.7 45
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0+ 26 0.50 0.10 0.24
0+ 40 1.4 0.50 0.50 0.7 0.10 0.10 0.1 0.25 0.25 0.4
0+ 16.0 12.0 0.50 0.50 6.0 0.10 0.10 1.2 0.25 0.25 3.0
0+ 180 2.0 0.10 0.10 0.2 0.30 0.28 0.6
0+ 200 2.0 0.10 0.10 0.2 0.30 0.30 0.6
0+ 217 1.7 0.10 0.10 0.2 0.30 0.30 0.5
0+ 228 0.10 0.30
0+ 385 15.7 0.10 0.10 1.6 0.30 0.30 4.7
0+ 400 1.5 0.10 0.10 0.2 0.30 0.30 0.5
0+ 425 25 0.10 0.10 0.3 0.30 0.30 0.8
I 6.7 40 11.1
& i 6.7 4.0 11.1
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m3 0.5
=27 U — b 0. 6%0. 15%10=0. 9 18-8-40BB
m3 0.9
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m2 3.0
ay 7 J— b L500, BEM., =44
e 5.0
JU—F 7% 1500, T-25, @B, LA, WY LD
e 5.0
NSRS SR No. 2
10.0 m ED)
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& 5.0
Avs—bayz U= t=FH131mm, 0. 3%0. 131%10=0. 4 18-8-40BB
m3 0.4
gz 7 ) — 1 0. 62%0. 15%10=0. 9 18-8-40BB
m3 0.9
FERRET 0. 15%2%10=3. 0
m2 3.0
JLv—F 7 L1000, T-25, E@E., T2, WY IED
# 5.0
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Avn—rarzV—>r £=99mm  ((0. 3%0. 3%0. 099) - (0. 2%0. 2%0. 099) ) *10=0. 05 18-8-40BB
m3 0. 05
T 0. 20, 2%0. 099%4%10=0. 2
m2 0.2
LR 0. 7%0. T%0. 2%10=1 RC-40
m2 4.9
7 U v A NMEKHE 500%500%400 BEF A E No. 4
10.0 BET  HY
T fa i B LA S Z
LEAK 5005005400
p7e 10.0
Avi—=brarzV—="r £=90mm  ((0. 5*0. 5%0. 09) — (0. 3*0. 3%0. 09) ) *10=0. 1 18-8-40BB
m3 0.1
T 0. 3%0. 3%0. 09%4%10=0. 3
m2 0.3
L Ride) 0. 920, 92%0. 2%10=1. 7 RC-40

m2 8.5
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1.0 &K ED)
T fa B B LA S S
ENT AR BEatEELY 18-8-40BB
m3 3.6
ftEa 7 U — b W="F608mm 0. 608%0. 15%16. 2=1. 5 18-8-40BB
m3 1.5
FERET 0. 15%2%16. 2=4. 9
m2 4.9
IEIKAR FF200%5
m 0.6
H bt 0. 24+0. 22+0. 2=0. 7 IR B Hib
m2 0.7
WERES B T MR No. 6
1.0 & ED)
T fa B B EXA S S
a7 Y—h 0. 2+0. 001+0. 04=0. 2 18-8-40BB
m3 0.2
T (0. 1%3. 8%2) +(((0. 1+0. 146) /2) %2. 2%2) + (0. 146%2. 3%2)=2. 0
(0. 12%0. 072-0. 0006) + (0. 5%0. 566-0. 08) =0. 2 2+0. 2=2. 2 m2 2.2
Hil L
1L 16.0
E78:10) 0. 995%0. 15%16/1000=0. 002
SD345 D13 t 0. 002
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10.0 fEFF &Y
T fa i o EXA S Z
e 0. 4110 VP150
m 4.1
aysJ—h ((0. 265%0. 265) 0. 02) *0. 15%10=0. 1 18-8-40BB
m3 0.1
Tl e (((0. 15+0. 265+0. 15)*0. 265) 0. 02)*10=1. 3
m2 1.3
IS ENe) otk No.8
10.0 BET  HY
T fa i B LA S Z
aysJ—h ((0. 5%0. 54) 0. 08) *0. 15%10=0. 3 18-8-40BB
m3 0.3
Tl e (((0. 15+0. 5+0. 15)*0. 54) -0. 08) *10=3. 5
m2 3.5
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10.0 fEFF &Y
T i ) o EXA S by
H\eE 0. 3%10=3. 0 VU50
m 3.0
wexy v VU50
&l 10.0
ayyJ—h ((0. 072%0. 12)-0. 0007) *0. 2:10=0. 02 18-8-40BB
m3 0. 02
Tl e (0. 072%0. 12)-0. 0007) %10=0. 1
m2 0.1
FAZET.O MR No. 10
1.0 fpr &Y
T i ) B EXA S Z
EE
e 2.0
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e 1.0
ayyJ—h 0. 4%0. 3%0. 9=0. 1 18-8-40BB
m3 0.1
Bl oA 0. 4%0. 3%2=0. 2
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10.0 fEFF &Y
T fa ) B EXA - S by
ayyJ—h 0. 4%0. 4%0. 1%10=0. 2 18-8-40BB
m3 0.2
Tl e (0. 3%0. 35) +((0. 1+0. 4+0. 1) *0. 4) ¥10=3. 5
m2 3.5
H & D200 SRtk No. 12
10.0 m ED)
T fa ) o LA S Z
BAE D200
S 10.0
FtEa 27 U — b 0. 15%0. 36%10=0. 5 18-8-40BB
m3 0.5
FERER 0. 15%2%10=3
m2 3.0
)L )L 0. 16%10%0. 03=0. 05 1:3
m3 0. 05
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m2 2.6
RpEHeIE O+@+®
m2 2.6
K D+@+@+@
m2 2.9
® (2. 4+2. 25+1. 65) /2=3. 15
V(3. 15% (3. 15-2. 4)* (3. 15-2. 25) (3. 15-1. 65))=1. 8 m2 1.8
@) (2. 19+2. 25+0. 4) /2=2. 42
V(2. 42% (2. 42-2.19) % (2. 42-2. 25) % (2. 42-0. 4) ) =0. 4 m2 0.4
® (1. 92+0. 49+1. 65) /2=2. 03
V(2. 03% (2. 03-1. 92) % (2. 03-0. 49) * (2. 03-1. 65) ) =0. 4 m2 0.4
@ 0. 4%0. 8=0. 3
m2 0.3




